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ANNUAL EXAMINATION 2023-24
MATHEMATICS 4
Time : 3 hrs. | Class IX [ M.M. : 80
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General Instructions—
(i) The question paper has 5sections A, B, C,DandE.
(i) Section Ahas 20 MCQs carrying 1 mark each. .
(iii) Section B has 5 questions carrying 2 marks each.
(iv) Section Chas 6 questions cafrying 3 marks each.
(v) Section D has 4 questions carrying S marks each.
(vi) SectionE has 3 base integrated units of assessment (4 marks) each with sub parts
of the values of 1, 1 and 2 marks each respectively. |
(vit) Draw figures wherever necessary. | ,
- (viii) Write the serial number of questions before atf.emptizig i,
SECTION-A = 1x20=20

1. Identify the p/q form of 0.7 :

e i 0 ghis

L
2.
(©) (97 _
3. The e) . IS a ance of 5 units from

the origit




=

121
Which of the following is nota linear equation in 2 variables :
(a)/ax+by=5 (b) 3m+2n-6=0 @
(g), 2% =48 (d) 2p+3q=8 /
1to one another. Identify the Euclid's postulate :

All right angles are equa

@/Postx,:!aie 4
(c) Postulate 3
Mame th - type of angle whose measure lies between

(b) Postulate 1
(d) Postulate 5

180° and 360° :

,(d) Straightangle

‘(a) Completeangle

(&yObtuse angle

In APQR, £P = ZR, QR =5 cm, PR =4 cm, the lengthof PQis ___-

p
4cm
/ N @
Q 5cm K ,/'
M cm (b) 2cm
(¢)/5 cm (d) 2.5cm
s always :

The sum of consecutive angles of a pzrallzlogram is

(2 180° (b) 270
(c) 360° (d) 90°
Volume of a sphere whose diameter is 6 cm :

(336 7 cm? (b) 288 it cm’
(c) 108 mcm’ (d) Nore of these

Three angles of a quadrilateral aic equal and the fourth angle meast
the measure of cach of the equal angle :
(b) 100°

(a) 707
w5

(c) 60°

12.

16.

17.

No. of solutions of a linear equation in 2 variables

[3] Maths IX/MG-330

The sides of aright an i
g gled triangleis6 o, § I
“})/(, ’ ,8cmand 10 ¢ Find jts
e umn. Find its area
b AR C"':
(c) 96 cm? Ed; ek
40 cm*
Curved surface area of a cone can becalculated usi
o " ‘ated using the formula :
firl
(c) nr(l+r) L(;;Ar*
s
Range of the data is
25, 18,22, 50,8, 11, 32
a
(( ; 514 ®) 25
c) 50
W42
Value of (49)'2 > (7)1 .
(a) 7"
@ (b) 49
(c) 14 \'J) ,
. (d) 21
Perpendicular distance of the poi ¥
S olthe pont (-5, 2) from the x axis
(/J)-’_ uniis ) |
oo (b) 5 units
3 units
(d) None of thes
R ‘ 1e5€
roof the polynomial p(x) = cx+d;c#0;'c’ and *d’ are real |
¢real number ;

@ (7) ot

© % © S
c
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22.
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son . ).20), a statement 0
Assertion & Rt‘“l »f the following questions (Q.19 and Q.20)
: Ineach
Dim(h\“ N

below
ing state »f Reason just
ollowed by a \‘On‘cspnndm » statement of

fon is given folle ) ‘L‘ .

s N COITECY answer as &

. he statements, mark the correcy

i "the st

it. Of'th

) QS A\ l\n\”\(_‘.l.\('l\ are tnye i1 Reason is s e ~ct explanation A\
Asserion o correct CXpland |
fion : and Reason is the corr ) “\.\ [\
1\
a) “\\‘h- A
('

‘ S is e correct cxplmmlim\
Asserion. { Reason are true but Reason is not the cor
sertion and Red =
“ ‘h.’\‘\ CI“(‘!
(I\) Bo ) ue |
{ Asseriion. s
g ssertion is true but Reason is false
o ‘ b as is true.
. Al wsertion is false but Reas Oll.l\‘ - p( Bt O
(‘n : \ o lp e ot e fais any real number, then
et o N S l\'n()l“illl { tlcg,n:c n>1andais
JUI ‘P(X)l"i\ 01y [\
}\c:‘» on: lt . ) \ ) () ‘ll )
| : . f‘ C(k lt ‘)( ) : i CC ‘ C ‘)l‘l‘lc Cil’clc. l‘ A’_A(/
(x§ e ¢ given ﬁgurc. Qs the centre C
i sInthe gt ) 5
Assertion: £ B
‘{[\Ol; - l(\() .

isect! hord.
ircle bisects the ¢
icular from the centre of @ circle
Reason : Perpendicu S rors
———?Z—Ix;r-ks each.)
(Section B consists of § questions 0 -
jona! number.
Convert 235 to the form of a rational n
Write the mirror image of :
(a) (8,-5)alongthexaxis.
(b) (3,4)zlongtheygis,

[5)
30 Three sides of o sealene triangle
240 Find the diameter of'a cone
respectively,
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and 24 ¢y, Find its aren
I'slant height are 12

aredo em, 12 cm
whose heighy o, cmand 20 ey
25, Tand m are 2 paralle] lines and ‘g transversal, Fing the measures of Z1 and
Z2. Using the Propertics of angles,

OR
Inthe given figure AB [1CD, find the Mmeasure of ZAQC,
A

SECTION-C
(Section C congisgs of'6 questions of 3 marks each,)
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X any 3 'S¢ 1S,

( ) {fention any & Fuchd's axio

27 a) Me o) i's

al m\]
t B { D
( A

. -
= CD. Mention the axion
iven figure, ifAC = BD then prove that AB = CD. Met
In the given [EUT,

u\“\‘\{.

ipure AD = BCand “DARB = ZCBA, prove that
ny D -L” 73
28, Inthe given 0if

D '

B \3 YY) 131 PN
AA AL U 1D
G . B

Jive reason for every statement
WIVT A

M by
0. Inthe

) latn
A 3 } - by the chord
Find the measure of the angle subtended by
$iry - -..\.l: “ing 1 ¢
radius of the ¢

falso ata point on the major arce,
sint on the minor anc andz

OR |
i perpen
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Curved surface area of a conicg] tentis 550 m? and its radius js 7 m.,
Find the following :

(a) slant height (b) height of the tent
() volume of the conical tent

OR
The diameter of metallic ballis 4.2 ¢, Find the mass of the ball, ifthe density
ofthe metal s 8.9 & per em’,

(@) Find two solutions of'the linear equation
IXty=12
(1) Check Whether (LO0)isa solution o

fthe linear equation ;
X-2y=

Sl-‘.(“l'l()ﬂ-l)
1uestions of § marks each)
Also mention the identities) ;
(b) 104x96
ulating the cubes, tind the value OF(=15)'(10)'+(5)
™) Inihe given liguro AD || CD,

(Section D consists of 4
I’.\'uluul'c using hlcntitics(
() (102

(©) Withow cale
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£ APQ=60°and £ PRD=130°Fir ihe values orx, yandz. (9]
Menti erty used.
iz Ienn:)hnb:l;e‘ :: 0‘; 'nci interseck = v Hereplied, length of this string can be calculated using Pytha;_,oras theorem and
rove that if two li Chi other, then the vertical ite )
g ertically opposite angles itis equal to Y + P = AT =45
equ
34. Marks obtained by a few students i m an examination are given below. Draw a
h:stogmm to represent the given mformat.on String
Marks 0-20  20-40°""40-60  60-80  go-100 |
No. of students 10 ) 45 BT
(i) How many students got marks more than or equal to 60 ? \
KR, 9

(if) Find the class mark of the class interval with highest frequency.
35. (a) State arfd prove mid point theorem, On the basis of the above information, answer the following questiors :
(b) ABCDisa paraliclogram. APand CQ are perpendiculars from the vertices A (i) Mention whether Rational or irrationa! number :
andC. i R :
i | % | 7
c - : | @ 5 ® 7

D
(ii) Simplify:
, 3V5+445-4/5
‘ A B (iii) Rationalise the denominator :
‘Prove that AAPB = ACQD : : . o
' i gRY ST, S (35+3)

OR

ABCD s a Rhombus. B, Q, R & $ are the mid points of the sides AB, BC, CD,
» and DA respectively: Show that the quadrilateral PQRS is arectangle.
SECTION-E ' -
(Case study based questions)- :
36.- Sam and Max are playing with matchsticks by making different ﬁgum‘ Wi
Sam kept one matchstick horizontally and then two matchsticks ve ert
in the figure. Max joined the open ends with a string (refer tov i
ask their elder brother v whether he can find the length of this st

Repré'selli J/5 onanumber line.
37. A circular Geoboard is a ruathematical manipulative used to explore the basi
concept the of’ plane Geometry It has 24 numbers of equally spaced pegs aranged




[ 10 ]

F‘oooooooOO
—O0—6—6—9 0 P—Oo—O
<>ooochﬁi0k"
d—e—o—o—0 OF
O O 0OO0OO0OOGO® O Y
ooooooéob
© 0000 0 669

Based on the above information, answer the following questions :
(a) Find the measures of /ZBOC and /B AC.

(b)" What is the measures of ZBDC (mention the property/Theorem used)

(¢) Whatare the measures of ZOAB and ZOBA are they equal? J ustify your answer.
FOOD PYRAMID SR R

A food pyramidis a representation of the optimal number of servings to be eaten

each day from each of .balsivc-food groups. It is designed to make healthy eating
casier. Health care NGO in India working for un’dei‘priyile_ged children. In rural

- areas health statistics are continue to poor. In this diré(:tiori Health Care India has

made the children under the agévof 13 aware of "food pyramid" by telling the
importance of different food groups such as carbohydrateg? fats, vitamins, proteins,
mi The models ¢ _V_prémid' hich they have used triangle with

shape of triangle. 60 ¢ 2

are 10 em each. /oo ¢y
: 4

s~y



